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1. What do we learn from this conversation?
A. The man was in class on Friday, but the woman
was nol.

B. The woman was in class on Friday, but the man .

|
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was not.
C. Neither the man nor the woman was in class on
Friday.
2. Where does the conversation most probably take
place? |
A. In a doctor’s office. [
B. In a professor’s office. |I
C. In a lawyer's office. |
3. What does the man ask the woman to do? |
A. To post a letter for him.
B. To lend him her umbrella.
C. To go to the post office with him.
4. At what time does the office open? |
A. 7:45. B. 8.15. 5
C. 8.00.
5. What does the woman mean?
A. She will take the test.
B. She won't take the test.
C. She still doesn't know if she will take the test.
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6. How long does it take the woman to finish the
work ?
A. All night long.
B. All day long.
C. Half an hour.
7. What is the woman going to do tonight?

A. To help the man with his work,
B. To see a film.
C. To do her maths homework.
Wi T Bebel, EES 8 510 B,
8. What does the man invite the woman 1o do?
A. To go 1o the hospital.
B. To attend a party.
C. To see a film.
9, What has happened to Jane?
A. She is ill.
B. She is unhappy.
C. She is in hospital.
10. What wili they do together?
A. They will stay at home.
B. They will go to visit Jane.
C. They will go to the movie.
Wi 8 BrAbRl, IR 11 £ 13 &1,
I1. Why does Alice like the man’s old apartment?
A. It was modern and the rent was low.
B. He was near his working place.
C. The neighbors helped him much.
12, Why did the man move?
A. He found a cheaper apartment.
B. He didnt like his old neighbors and the
owners.
C. He wanted to be close to his working place.
13. Alice had lived in an apartment where
A. things weren’t fixed properly
B. the rent was cheap
C. the neighbors were friendly
WrEE 9 BrarR, WSS 14 F 16 B,
14. Why was the woman surprised to see Harry?
A. Because she had expected his father instead of
him.
B. Because he had changed a lot.
C. Because she had thought that he would still be a
university.
15. What does the woman think of Harry?
A. He looks fine.
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B. He is a good student.

C. He doesn look like father.
16. What is the school year like?

A. It is not long enough.

B. 1t is longer.

C. It is interesting.
WA 10 BUBORE, 1295 17 4220 4,
17. Albert Einstein thought highly of the man who E

A, strugples for success

B. has greal value

C. has done more achievements than he himself
18. Nelson Mandela was once put in prison because
A. he was against racism{ fi% 5 )
B. he didn't get along well with his people
C. he was selfish{ [ FA1)
Whe has won the Nobel Prize for Peace?
A. Nelson Mandela.
B. Albert Einstein.
C. The author.

19,

20. What are the people of value most willing to do?

A. Live by respect.

B. Think more about power.

C. Consider money only. !
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1. How much did the woman lend the man? l
A. $13.00. B. $7.00.
C. $6.00.

2. Where did the dialogue take place?
A. In the street. i
B . In the hotel.
C. At a hospital.
3. Why couldn't the woman get through?
A. Because the man's telephone was out of order.
B. Because the man's receiver wasn’t put in the right i
place. !
C. Because the receiver of the man’s telephone was |
broken.

4. What are they talking about?

A. The taffic.

. The health.
5. Whar did

afternoon?

A. He saw a film.

C. He went shopping.
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6. What was stolen?

B. The weather.

the man’s brother do yesterday

B. He went to work.

A. Some jewelry.
B. ATV set
C. Both A and B.
7. Which of the following is TRUE?
A." The woman’s jewelry was all stolen.
B. The woman's good jewelry was not stolen.
(.. Most of the woman’s good jewelry was stolen.
WPss 7 Bobbkt ol 8 410 8,
8. Where is the dialogue taking place?
A. In the school.
B. In the hotel,
C. In the post office.
9. What kind of letter does the man want 1o send?
A, Regular.
C. A and B

10. How much should the man pay for sending the

B. Registered.

letter?
A, §1.5. B. $1.6.
C. $3.25.

WS 8 BrabkE, I 10 %8 13 .
11, What does the woman's aunt do?
A. She is a teacher,
B. She is a nurse.
€. She is looking after the children.
12. Where did the woman go on Washington’s
Birthday?
A. To the mountain.
C. Nowhere.
13. Where did the man go on Washington’s Birthday?
B. To the beaches.

B. To the beaches,

A. To the mountain.
C. To the park.
IFE5 9 Bebr el IS 14 2 16 £,



i4. What's Bob going to do tomorrow afternoon?
A. To go back home.
B. To try some seafood.
C. To go to the science museum.
15. What does Bob think of the science museum?
A. He likes it very much.
B. He thinks very litile of it.
C. He doesn't think much of it.
16. Why does Joan suggest that Bob take a bus tour?
A. Because she thinks it’s very dear and pleasant.
B. Because she thinks it's the best way to get to
know the city.
C. Because she thinks it’s one of the ways to tour in
the city.
WSS 10 Bk, IS 17 £ 20 .
17. Satellites are now used in
A. the study of space
B. comparing pictures
C. weather forecasting( Fii41)
18, Wealher satellites take pictures of the atmosphere
because
A. clouds form there
B. the weather disappears there
C. these pictures can help forecast the weather
19. Meteorologists { {53 ) forecast the weather

A. afier they have compared new satellite pictures
with earlier ones

B. after they have taken pictures of clouds

C. when they have received satellite pictures

20. Man will soon be able to forecast the weather for

A. a month
B. 48 hours

C. 168 hours or even longer
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1. How does Sally feel?

A. Satisfied.

C. Tired.

2. How soon will the man’s uncle get to the station?

B. Discouraged.

B—85 "W A

A. In 5 minutes. B. In 15 minutes.
C. In 20 minutes.
3. Where is the woman from?
A. America. B. France.
C. Russia.
4. Why won't the woman go to town tomorrow?
A. Because it will rain.
B. Because it will be too hot.
C. Because it will be too cald.
5. What does the woman mean?
A. They don't have to go to the concert.
B. They’ll have to rent a car as early as possible.
C. The subway is fine 1o her.
BH
Wy b S B S E., SEMEEMAEE
JUA/IEE, PSS B E3 60 AL B .C =00 vhikiti i
(BRI, AR B IR O R . W BRI B
B, P A B 18] el 3 2% A~ /N, TN ER S Rb b i 5
5 /NS S B PESS R ), B B R
13 P 8
W4 6 Brdbk, &S o 7 i,
6. Where do they want to go?
A. To the railway station.
B. To the seaport.
C. To the airport.
7. Why does the man think Dick can't go with them?
A. Because he is busy.
B. Because he doesn’t know the way.
C. Becausc he has a visitor.
W7 Bratkl, HEE 8 £ 10 M,
8. What will Mary's mother receive for her birthday?
A A skint. B. A shin.
C. A handbag.
9. Who is going to cook the special dinner?
A. Mary.
B. Mary's father.
C. Mary's friend.
10. Who will do the shopping?
A. Mary and her mother. .
B. Mary and her father.
C. Mary and her friend.
U 8 B bt IS8 11 £ 13 &,
11. Where will they have a dinner tonight?
A.In a hotel.
B. At a restaurant.
C. At New York airport.
12. What kind of food are they going to eat?
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A. English food.
B. Chinese food.
C. French food.
13. How many seats will the woman order?
A. Two. B. Four.
C. Five.
W 9 Brdhkl, FIEES 14 & 16 B,
14, When was it unusual to see a plane?
A. In the early 1960.
B. In the 16th century.
C. In the early 1900’s.
15. Why can we use electrical lights?
A. Because someone invented ways to make use of
electricity.
B. Because we have more money than before.
C. Because someone has paid for US.
16. What are the father and the daughter talking
about?
A. The history of planes.
B. The changes of life.
C. The invention of eleciric lights.
WS 10 BURA R, IR HE 17 3220 B,
17. Tt has been proved that the pattem of a human
being's finger skin is
A. similar to his mother’s
B. different from those of all others’
C. is like those of others’ with the same type of
blood
18. If your fingers are slightly wounded by fire, the
fingerprints will
A. be changed partly
B. be replaced by different vnes
C. remain the same when the wound heals (#d1).

19. Some criminals get nd of their own fingerprints by

A. injuring the inner skin

B. using printer’s ink

C. destroying the outer skin
20. The passage is mainly about

A. the changes of fingerprints

B. the usage of fingerprints

C. fingerprints
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1. What does the man mean?

A. Sandy comes to most of their parties.

B. Sandy missed most of their parties.

C. Sandy comes to one or two of their parties.
2. What does the man suggest the woman do?

A. Ask Joan to come to the meeting after lunch.

B. Tell Joan at lunch about the meeting.

C. Wait until Joan finishes lunch.
3. What are the two speakers talking about?

A. About their past.

B. About their hometown.

C. About a TV play.

4. What's the man’s phone number?

A. 6240 - 5098. B. 6204 - 5489,
C. 6402 - 4895,

5. How does the woman feel?
A. Angry. B. Tired.

C. Disappointed.
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6. The woman in the photo is

A. taking care of Alex

B. sitting on the porch

C. cleaning the cabin
7. Alex’s family used to

A. live in a cabin in the mountains

B. live in Florida

C. go to the mountains every year
8. Alex has

A. an elder sister

B. a younger sister
C. a twin sister
WFHT 7 Bibbhl, [FIEEH5 0 & 10 4,
9. John thought Susan should go
A. on the picnic
B. 1o the movie
C. with him
10. John finally suggested that Susan
A. cook in his kitchen



B. cook duning the picnic
C. take prepared food
WrE 8 BOaRl, MIESE 11 213 .
11. Why does the man want an appoiniment this week?
A. He needs to find a job.
B. He has a bad tooth.
C. He will be busy next week.
12. Who recommended Dr. Allen to the man?
A. His last dentist. B. His friend.
C. His mother.
13. What can we learn about the man's work from this
conversation?
A. He works at night.
B. He’s changing jobs.
C. He only eamns a little.
UrE O BbbRl, A 14 & 16 Bl
14. What's the relationship between the two speakers?
A. They're strangers.
B. They are shop-assistant and customer.
. They are husband and wife.
15. Where is the man going?
A. To a shoe shop.
B. To a shoe-repair shop.
C. To the police station.
16. Where is the shop?
A. Three blocks away on the right.
B. On the first street on the left, then three blocks
away.
C. On the third streel 1o the left.
O ES 10 BrbbRE, 12555 17 E 20 8,
17. What is the speaker’s nationality?
A. Canadian.
C. Japanese.
18. Why was she excited?
A. Because she liked to teach children.

B. Because it was her first visit to Japan.

B. American.

C. Because it was the first time that she had been a
paid teacher.
19. How did she feel about the students’ questions?
A. She feli angry.
B. She was moved.
C. She felt uncomfortable.
20. How did she begin her class?
A. By smiling.
B. By writing something.
C. By introducing herself.
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1. What does the man mean?

A. No words can express his feelings.

B. He doesn't know the meaning of the description.

C. The scene of the Great Wall is beyond description.
2. Where was the man probably born?

A. In the north of China.

B. In a south town of China.

C. In a town near Chicago.

3. Who did the man get a post card from?

A. The woman. B. Tim.
C. Connor.
4. How much did the man get on the TOFEL Test?
A. 605. B. 650.
C. 537.

{ 5. Why does the woman want to live in the city?

A. Because life is less expensive in the city.

B. Because jobs are easier to find in the city.

C. Because her job is in the city.
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6. Where is his mother now?
A. At home. B. In hospital.

C. In a hotel.
7. How soon will the man be back to work?
A.In a month.
C. In half a month.
WreE 7 Bb R}, IRl SE 8 410 .
8. What do you think the man is? Why?
A. A policeman, because he works hard.

B. In seven days.

B. A postman, because he often works late.
C. A taxi driver, because he often works through the
evening rush hours.
9. When were they having the dialogue?
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A. Before the man started his work in the evening.
B. After they got up.
C. Before they went out shopping.
10. How is the weather in New York compared with the
weather in Florida?
A. Colder.
C. Rains often.
NS 8 Brbf R, MIAESE 11 £ 13 L,
11. Why does the woman suggest Billy go to watch the

B. Warmer.

ping-pong match?

A. Because Billy likes ping-pong.

B. Because she wants to do nothing.

C. Because there is an extra ticket.
12. What does Billy like best?

A. Football.

C. Painting.
13. Who will probably go to the match?

A. Jimmy and the woman speaker.

B. Ping-pong.

B. Billy and the man speaker.
C. The man speaker alone.
WTHE 9 BRRER, ISR 14 16 /i,
14. What was wrong in their house?
A. Their washing machine.
B. The electric wires and many other things.
C. The lights.
15. Which of the following 1s TRUE?
A. Mr Smith did nothing for her at all.
B. Mr Smith asked too much money from her for his
work,
C. Mr Smith did help her but couldnt solve the
problem completely that day.
16. Why did the man think it would cost him much?
A. Because he wanted to buy a car.
B. Because he didn’t have a goed job.
C. Because their car also needed repairing.
WS 10 Bubikl, SR 17 220 &,
17. What is the passage mainly about?
A. The red tide ( 7571 .
B. Sea pollution.
C. Plants.
18. Algae ( F¥) are a plant that
A. all fish live on
B. can live in fresh water
C. can only be found in the sea
19. The longest red tide ever happened
A. at the mouth of the Pearl River
B. in the East China Sea

C. in America
20. When the red tide takes place,
A. all the fish in the water will die out
B. those fishes living on algae will die in great
numbers
C. people will be forbidden to eat fish
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1. What does school begin?
A. At 7:30.
C. At 8.30.
What will the man stay at home to do?

B. At 8.00.

&

A. To answer the phone.

B. To have his telephone fixed.

C. To call the telephone company.
3. What will the man have to do ?

A. Take his luggage with him.

B. Paint the room.

C. Change for a new room.
4. What is Bill doing now?

A. He's listening to the radio.

B. He's talking on the phone.

C. Hc's staying in hospital.
5. How does the man deal with his exam?

A. He's not well prepared.

B. He feels it will be easy.

C. He doesn’t mind about it.
B
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6. Why do the ran and woman want to go to the French

restaurant 7

A. Because the woman likes French food.



B. Because the woman is hungry.
C. Because they want to try the food in the
restaurant.

7. Why aren'’t they going tonight?

A. Because the man is not hungry.

B. Because the restaurant is very crowded.

C. Because they den’t have enough money.
8. How are they going to save money?

A. They are not going to have lunch.

B. They are going to have lunch at home.

C. They are going 10 have lunch every two days.
WrHS 7 BURORL, SERLES O 2 11 R,
9. Which of the following position is the woman

interested in 7

A. General manager.

B. Advertising manager.

C. Sales manager.
10. How long has the woman been in a small company?

A. Eight years.
C. Ten years.

B. Nine years.

11. What does the woman want 1o do?
A. To go to different places for holidays.
B. To get chances of her future development.
C. To meet more new friends on her trip.
5 8 Brbrk, SEALSE 12 % 14 &1,
12. What did the man say to his father?
A. That he dido’t like the farm.
B. That his farm was a poor one.
C. That he didnt want to be a farmer like his
father.
13. How did his father feel?
A. Terrible.
C. Very surprised.

B. Unhappy.

14. What is the man going to do now?
A. Work for his father.
B. Say sorry to his father.
C. Tell his father he likes the farm.
U7H 9 BUbht, ST 15 & 18 @,
15. How large is the woman’s handbag?
A. One foot long, eight inches tall.
B. Eight inches long, eight feet tall.
C. One inch long,’ one foot tall .
16. What is not in the woman’s bag?
A. Wallet. B. Letter.
C. Two cards.
17. Where did the woman leave the bag?

A. In a taxi. B. In a cinema.

B8 ® h

C. In a coffee shop.
18. When did the woman lose the bag?
A. About 2.30. B. About 1.30.
C. About 12.30.
W75 10 B A, SERUSE 19 2 20 58,
19. Which is wrong of the following sentences according
to what you heard?
A. Oilmen sometimes find oil in mountains.
B. Oilmen sometimes find oil in lakes.
C. Oilmen sometimes find oil in desers.
20. Which is right of the following sentences according to
what you heard?
A. Most people use oil in some way in the
world.
B. Hardly anyone uses oil in some way in the
world.

C. All people use oil in some way in the world.
(B]
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1. What does the woman mean?

A. She can't find her suitcase.

B. Her suitcase is smaller than his.

C. Their suitcases are different sizes.
2. What does the woman say about Susan?

A. Susan did Jack’s homework.

B. Susan did not do all her homework.

C. Susan has not finished her homework.
3. What was the man’s problem?

A. He had car trouble.

B. His uncle died.

C. There was a traffic jam.
4, Where did this conversation most probably take

place?

A. In a hotel.

B. In a hospital.

C. In an apartment building.
5. What does the man mean?

A. He has not forgotten about the dollar.

B. He thinks she is forgetful.

C. He doesn’t expect her to pay him back.
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6. What course is the woman going to study at the
college?
A. Computing.
B. Basic Programming.
C. Advanced Programming.
7. How many students and staff are there at the
college?
A, 500. B. 550.
C. 600.
8. Which club will the woman probably join?
A. Tennis Club.
B. Table Tennis Club.
C. Cinema Club.
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9. What do they decide to do?
A. See a film.
B. Go for a walk.
C. Go to the park.
10. When will they meet?

A At 7.00. B. At 7.45.
C. A1 8:00.

11. How is Michael going 10 get there?
A. By taxi. B. By bus.
C. On fool.
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12. How often does the man talk to his great-
grandmother?
A. Every moming. B. Every week.
C. Every Sunday.
13. Where does the man's great-grandmother feel a storm
coming?
A. In her bones. B. In her legs.
C. In her head.
14. What will the man probably de in the future?
A. Call his great-grandmother more often.
B. Walch the weather forecaster with his great-
grandmother.
C. Believe his great-grandmether’s prediction about

the weather.
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15. How does Bob seem to feel about his haircut?
A. Tt is just what he wanted.
B. He enjoys having the latest style.
C. He dislikes it immensely.
16. What did Bob see on the floor?
A. A broken mirror.
B. The hairstylist.
C. Piles of hair.
17. What do people keep saying to Bob?
A. “Please put it back on.”
B. “Ir'll grow back. ”
C. “It won't grow fast enough. "
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18. What is the topic of this lecture?
A. Marriage in Britain.
B. Marriage rules.
C. Cousin-marriage.
19. Why do the Nuer say “ We marry those with whom
we fight” ¢
A. They must marry someone from an enemy
village.
B. They win, so their enemies have to give the Nuer
their daughters.
C. They fight in order to marry their enemy’s
daughters.
20. Which of the following is TRUE according to the
speaker? )
A. Cousin marriage is against the law.
B. It is illegal to marry at the age of 18 in UK.
C. The Nuer marriage custom has positive results,
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1. Whom does the woman want to talk to?
A. Mr Jack. B. Mr Smith.
C. The secretary.
2. What does the woman suggest the class should do?
A. Give Professor Smith a picture of the class.
B. Take a photo of Proféessor Smith.
C. Give him pictures drawn by the class.
3. Where does this conversation most probably take
place?



A, At a party.
B. At a supermarket.
C. In a hospital.
4. When did the plane leave?
A.12:05. B. 12:20,
C. 11:50.
5. Where is Mr John's white shin?
A. In the washbasin.
B. In the washing machine.
C. In the cupboard.
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6. Where does the conversation take place?
A. In a restaurant.
B. In a clinic.
C. At a dentist’s.
7. What’s wrong with the man?
A. He has been suffering a stomachache for 2 days.
B. He has been using the restroom over 5 times a
day.
C. He has not eaten anything for several days.
8. How is the man’s temperature?
A. A litle bit lower.
B. Normal.
C. A little bit higher.
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9. Where does the woman get off?
A. In River Street.
B. In front of the hotel.
C. At the bus stop.
10. What are they talking about?
A. The dirty car.
B. The heavy traffic.
C. The weather.
11. How much does the woman pay?
A. Eighty-five cents.
B. One dollar.
C. One dollar and fifteen cents.
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12. Why doesn’t the man book the seats downstairs?
A. Too expensive.

B. Too close to the stage.

i
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C. Uncomfortable.
13. When does the man plan to see the perfformance?
A. Next Saturday.
B. On October 21st.
C. On October 25th.
14. How much does each ticket cost?
A. §10. B. $3.75.
C. 82.50.
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15. Why does the woman have to put off the meeting?
A. Because she couldnt get in touch with her
cousin.
B. Because she has another more imporiant
meeling.
C. Because her plane is delayed by the fog.
16. What does the woman ask Mr Smith to do?
A. To find out her cousin’s telephone number for
her.
B. To send her cousin a message.
C. To attend her cousin’s party.
17. When will they have the meeting?
A. On Frday. B. On Tuesday.
C. On Thursday.
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18. Where did the traffic accident happen?
A, In New York City.
B. In the town.
C. On Highway 37.
19. How many people were killed in the accident?
A. 32, B. 46.
C. 33
20. What can we infer from the News report?
A. The accident occurred at 1130 p. m.
B. The rain and the many curves ( %5 H14b) of the
road may be the cause of the accident.
C. The number of the dead in the accident will
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1. What is Jack going to do?

A. To visit Jim in hospital.

B. To find a taxi.
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C. To see Jim in the hospital.
2. What are they going 10 do tomorrow?

A. A spelling check.

B. A reading check.

C. A reading book.
3. Why didn’t they carry the old man to safety?

A. Because he can go there himself.

B. Because the road is crowded.

C. Because he is badly hurt.
4. Why should we keep the window open when using a

gas?

A. Gas can give off heat,

B. Gas is poisonous.

C. We can breathe the fresh air.
5. What does Jane have to do?

A. To borrow this book.,

B. To lend this book.

C. To return this book.
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6. What is the girl’s name?

A. Mary.

C. Betty.
7. What is the girl going to do this evening?

B. Rose.

A. She is going to meet some friends.
B. She is going to do some shopping.
C. She is going to see a film.
8. When must Betty be back at home tonight?
A. Before half past ten.
B. Before a quarter past eleven.
C. After a quarter to eleven.
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9, How did the lions run out of the zoo?
A. An old woman let them ;go,
B. One of the keepers was asleep.
C. One of the keepers was not so careful.
10. Where did two of the lions go?
A. To the nearby hills.
B. To a worker’s house.
C. To another zoo.
11. What did the lion do after it entered the home?
A. It entered the cage.

B. It killed the old woman.
C. It soon went to sleep.
12. Where did the zoo workers get the lion at last?
A. In the zo0.
B. On the old clothes.
C. On the hills nearby.
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13. How old was Mrs Smith?
A. She was seventy.
B. She was more than seventy.
C. She was no more than seventy.
14. How did Mrs Smith go to the park every day?
A. With her daughter.
B. By bus.
C. On foot.
15. Who got very surprised?
A, Mrs Smith.
B. The policeman.
C. Her son.
16. Why did she tell a lie to the police?
A. She'd played a trick.
B. She felt too tired.
C. She was old enough.
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17. Who will have a talk with Chen Hua?
A. The company.
C. Mary Walter.
18. What will Chen Hua have to do a week later?

A. To have a medical examination.

B. The manager.

B. To begin to work in the company.
C. To tell the manager why he wanted this job.
19. When will Chen Hua know whether he will be
employed 7
A. A week later.
B. On the morming of May 18.
C. At the beginning of next month.
20. Who do you think Mary Walter is?

A. The manager. B. The secretary.
C. The employee.
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1. What will the two speakers do first?

A. Search for the new tie.

B. Fix the shelf.

C. Paint the shelf.
2. What can we learn from the conversation?

A. The man can't drive well,

B. The car has broken down.

C. They are on the wrong way.
3. When does the conversation take place?

A. On Friday. B. On Saturday.

C. On Sunday.
4. What's the relationship between the two speakers?

A. Doctor and patient.  B. Husband and wife.

C. Teacher and student.
5. What does the man think about the price of the

car?

A. Reasonable.

C. Unbelievable.
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6. Who is the woman?

B. Too high.

A. A manager.
C. A housewife.

7. Which phone number should the man dial?
A. T7231059. B. 77328905.
C. 77321095.
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8. What were they mainly talking about?

B. A secretary.

A. Mike was knocked down in the street.
B. Mike gol injured in a match.
C. Mike had to stay in hospital.
9. Who told the woman about Mike’s stay in
hospital?
A. Tom. ‘B. Bob.
C. The doctor.
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10. Where does the conversation take place?
A. In the street. B. At a hotel.

B8 W h

C. On a train.

11. What can we infer from the conversation?
A. The man is quite rude.
B. The woman is a thief.
C. They are helping each other.
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12. What does the man do in the holidays?
A. Stay with his parents.

B. Have a further education.
C. Take a part-time job.
13. What can be learned about the woman?
A. Her parents are rich.
B. She is a top student.
C. Her flat is free.
14. Why does the man live in a flat with two other boys?
A. [t is cheap. B. It is large.
C. It is quiet.
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15. When will Hank visit Lisa®?
A. After finishing the repon.
B. After getting some food.
C. After having a meeting.
16. What will take place at Bill's house tomurrow?
A. A party.
C. A dance.
17. Why is Hank going to Lisas house?

B. A game.

A. To attend a dance.
B. To get some food.
C. To see sick Lisa.
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18. Why did the man go to the bank?
A. He had to pay the fine there.
B. He wanted to get small change.
C. He intended to call the traffic police.
19. How did the man feel about the police officer’s final
decision?
A. Happy. B. Sad.
C. Angry.
20. What was the police officer’s attitude to the letter
from the man?
A. She believed the man came across many
misforlunes.
B. She took pity on the unlucky man who had a bad
day.
C. She felt it funny that the man made up such a
story.
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1. What is the topic of the discussion?
A. They are alking ahout & polluted street.
B. They are talking about an outdoor picnic.
C. They are talking about the air quality.
2. What does the woman imply?
A. Adam should find a different profession.
B. Adam should choose his own career.
C. Adam is currently studying medicine.
3. Where are the two speakers?
A. In a department store.
B. In a clothes factory.
C. On the playground,
4. When should Susan go to meet Professor Brown?
A, A 10:00. B. A1 10:30.
C. At 11:00.
5. In which season does it often rain?
A. In the summer.
B. In the winter,
C. In the autumn.
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6. Where is the woman going?
A. To the post office.
B. To the museum.
C. To the fruit shop.
7. How can she find the bridge?
A. Go down the street and tum left.
B. Go down the street and turn right.
C. Go straight forward along the street.
8. How long will it take the woman to get there?
A. 10 minutes by taxi.
B. 10 minutes by bus.

C. 10 minutes on foot.
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9. What is the probable relationship between the two
speakers?
A. Close friends.
B. Teacher and student.
C. Brother and sister.
10. Why did Nancy call Bob?
A. To get in touch with him.
B. To tell him the good news.
C. To invite him 1o a party.
11. What were they going to do that evening?
A. To see each other and discuss something.
B. To go to meet the girl's sister.
C. To have a party together.
WrHE 8 Brpthl, IS 12 14 8,
12. What will Jack’s Dad receive for his birthday?

A. A tape. B. A tie.
C. A suit.

13. What will they do to celebrate Jack's father’s
birthday? '

A. Have a special dinner at home.

B. Have a dinner party at a restaurant.

C. Ask someone to cook Chinese food for him.
14. Who is going to de the shopping?

A. Jack's mother. B. Jack.

C. Jack and his mother.
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15. What kind of ticket does the woman want?

A. A retum ticket. B. A single ticket.
C. A train ticket.

16. How much did a ticket to Pittsburgh cost last

month?
A. 22 dollars: B. 20 dollars.
C. 32 dollars.
17. When does the woman have to be at the station?
A. 12 o'clock. B. 2:15.
C. 2 o'clock.
UTSE 10 Braf ), RIS 18 =20 4,

18. What will an ambitious{ # A F ) person like to do
when he gets older? -
A. To become famous and successful.
B. To live a comfortable life.
C. To become the owner of a big company.

19. Who will win the competition in all fields of
work ?
A. Those who are clever and quick.

B. Those who are strong and healthy.



C. The people with the most

experience.

training and

20. What makes it easier for you to get a job today?
A, Age. B . Education.
C. Experence.
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1. When will the shirts be finished?

A. Sunday afternoon.

B. Saturday afternoon.

C. Friday moring.
2. What place is close to Jane and Bill's new home?

A. A train station.

B. A bus station.

C. An airport.
3. What does the woman mean?

A. She's too busy to help the man today.

B. She’ll finish the report by noon.

C. She’ll have time later on in the day.
4, What's the man interested in in his spare time?

A. Playing chess.

B. Collecting stamps.

C. Nothing but play.

5. What time is it in fact?

A. 1:40. B. 1:50.
C. 1:45.
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6. How is Mary?
A. She is quite well.
B. She has been ill for some time.
C. She is feeling worse than before.
7. By whom were the flowers sent to Mary?
A. Mr Ford.

B. Mary's workmates.
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C. Someone Mary doesn't know.
8. Who will come to see Mary tomorrow?

A. Mr Ford. B. John.
C. John and Mr Ford.
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9. What's wrong with the man?
A. He's got a fever and a stomachache.
B. He's got a headache and a stomachache.
C. He's got a cold.
10. What does the doctor suggest the man do?
A. Have a rest and not wear anything.
B. Take sick leave and not wear anything.
C. Take sick leave and not work too hard.
WrES 8 ELALRL, IS 11 212 R,
11. What does this dialogue mainly talk about?
A. Work. B. Driving.
C. Dinner.
12. How does Ana go home?
A. Alone.
B. With a guard.
C. With the man speaker.
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13. Where may this conversation take place?
A. In a rest room.
B. At a weather station.
C. On the road.
14, What was the woman trying to do?
A. Teach the man some knowledge about weather,
B. Ask the man to stop and have a rest.
C. Persuade the man to turn around and retumn
home.
15. How did the woman have so much knowledge about
weather?
A. She gained it from her early experience on a
farm.
B. She worked at a weather station.
C. She learned a lot from her-geography teacher.
16. What were the man and the woman doing?
A. Discussing weather forecast.
B. Riding bikes in the countryside.
C. Having a picnic in the country.
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17. Where exactly is Brighton?
A. 15 miles from London.
B. 50 miles from London.
C. 50 miles from Paris.
18. What's the population of Brighton?




